IV ol M Jraillins|

4y, 4\ ol

1) Bx+4)(5x +2) = 15x*> + 26x + 8
Bx+4)(5x+2)=3x(5x+2)+4(5x+2)
=3B + (3)(2)x + (4)(5)x + (4)(2)
=15x% + 6x + 20x + 8

=15x% + 26x + 8

A) Qlsga B) s

2) 3x%(4x° —10x%* — 2x + 6) = .......
= (3)()x**5 — (3)(10)x**% — (3)(2)x**1 + (3)(6)x?

= 12x7 — 30x* — 6x3 + 18x2

A)12x7 — 30x* — 6x3 + 18x2 B)12x1% — 30x* — 6x% + 18

c)12x3 — 30 — 6x + 18x?2 D)12x> — 30x* — 6x + 18

14x7y1? — 21x3y> + 7x2y? _
72y’

3)

14x7y'? — 21x%y° + 7x%y?  14x7y'? 21x%y® N 7x%y?
7x2y? T 7x2y2 7x2y2  Tx2y?

— 2x7—2 y12—2 _ 3x3—2 y5—2 +1

— 2x5 y10 _ 3xy3 +1




A) 2x°y1% —3xy3 +1 B)2x°y10 — 3xy3

C)2x9y14 _ 3x5y7 + x4y4- D)2x3.5y6 _ 3x1.5y2.5 + Xy

4) (2x7+3)+ (10x” —3) = --
2x"+3)+(10x”"—=3)=2x"+10x’+3-3=(2+10)x" + 0

=12x’

A) 20x7 -9 B) 12x7

c)12x” — 6 D) (G Laa i Y

5) 2x8+3x+4)— (=728 +3x +5)= -
=2x8+3x+4)+ (7x® —3x-15)
= 2x8—7x8+3x—3x+4—5=(2+7)x8+(3_3)x_1

=9x8 +0x—-1=9x8-1

A) —5x8+6x+9 B) —5x1 -1

c)9x® -1 D) — 5x16 + 6x%+9




